&1 (100) X2 Al 21 2 (110) KAl & (1) 2 A EENEREED
o = p] 5|l il
of A o At s | ES
S = o & AU =z A A
100
XAl 4l 255,005,569 245,086,569 9,919,000
110
XAl 255,005,569 245,086,569 9,919,000
11
2EH 230,703,569 223,925,569 6,778,000
111-04
ZOIA 123,679,110/ 118,785,110 4,894,000/ © Z=0IA
2 & (123,679,000,0009 )-J1 & (118,785,000,000!)
= 4,894,000
111-07
SO ASH 0 2,000 22,000 0 SSASH MU 2,000,000 = A2,000
111-08
SEAM 158,000 177,000 19,0000 EEA
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111-10
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A& (21,832,597,000& )-J1& (22,110,850,000& ) = A278,253
223
== 1,312,211 565,611 746,600
223-01
ZNEBXSANSEH 935,311 565,611 369,700/ Z2DNEXZ Al &N
2 A(935,311,000& )-J1 & (565,611,000&) = 369,700
223-02
A . EHEXZAISE 376,900 0 376,900 Al . EHEEXZ AIS&H 376,900,000& = 376,900
X
228
&g 7,564,427 4,664,427 2,900,000
228-04
JEHEeYEHEZ 3,942,639 1,251,250 2,691,389 ASYHLALNEZ
A& (2,705,389,000&)-21&(14,000,000&) = 2,691,389
228-09
JIEH& =< 3,514,788 3,306,177 208,611 AUHA 25 42 208,611,000& = 208,611
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Z:(B00)XILHHLU X234 2 (610)2 LKLY 2 8 (B13) XL D2 EENECESED
ni; = J| PS HI im
ol & oM At = J| =
.28 < of & ¥ = A
600
X2 IHL 0l X 23l 2= 13,200,000 10,000,000 3,200,000
610
22 13,200,000 10,000,000 3,200,000
613
INE=DL=1lF=, 3,200,000 0 3,200,000
613-02
KSIHLIZAl - 2 - 3,200,000 0 3,200,000 @ ZIIHLAHEH 2L (X&) 2,000,000,0008 = 2,000,000
==
o QEUHTAIHE S ZIHA (RHEH)
1,200,000,0008 = 1,200,000
Ao s 684,300,000/ 627,900,000 56,400,000
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